Math 157 - Quiz 2 Name \<€3

August 28, 2013 Score

Show all work to receive full credit. Supply explanations when necessary.

1. (3 points) Find an equation of the line that passes through (—2,8) and is perpendicular

to bx — 4y = 8.
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2. (2 points) Find the slope, z-intercept, and y-intercept of the line described
by y — 4 = 6(x — 2).
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3. (2 points) Find the inverse of the function f(z) = T
‘T p—
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4. (3 points) Evaluate and simplify the difference quotient h(z + Az) — h(x) -
if h(z) =22 4+ 3z — 2. - Ar -
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